Flowspec Luokai Industrial Co., Ltd.



R -
iz I o _-ii—r

L F

| 5@2 .' i]i'é liﬁ:a\ a e

1 i Tl " e .':‘."--.- e g ‘ L 4 =
Jis | = B . el - k-[ 3 1|
CULEEERL s | Rk l ] s llll b i






_m_«__i, .
, ¢
: =
j <
_ S

- e T T,
P e ¥

e

v
I }
1 1 1

J T re———-




® LUOKAI

M A K E F L OW B EYT'T E R

O 5728 Indicator
NAMURKREIE RSB T LREMNE K. ENBSSHMIE.

Position indicator with NAMUR is convenient for
mounting accessories such as Limit Switch box,Positioner

@O M Pinion

RO, SEE—rimHimERFENAMUR, 1SO5211
. DIN3337txnfE, IiRIEEFERESIR TAASINEL

The pinion is high-precision and integrative,made from
nickelled-alloy steel,full conform to the lastest standards of
ISO5211,DIN3337,NAMUR.The dimensions can be customized
and the stainless steel is available.

® FIfK Actuator Body

ASTME0OSEHRASEATTLURFEREM. FEWIEEE &

4= , \ﬁ\vj R £ 3)e 55# N
(RESIEAZS, B0, REF) . PIEARIERA (IR  EUSEERRRRCs
REEK,

According to the different requirements,the extryded Preloadled coatingsprings are mada from the
! hiah I Y . .
aluminum alloy ASTM6005 Body can be treated with hard Igh quality material for resistantto corrosion

| ice li :
anodized,powder polyester painted (different colours is and longer service lifewhich can be

. . demounted safely and conveniently to satisf
available such as blue,orange,yellow etc.),PTFE or Nickel plated. requirement of tgrque by chanlginquuantiltyyof

WAEFESS. Apil. e

. 0 springs.
O imz= End caps @)

. . O k. SR Bearing & Guides
EERASEESENFIASMNe. PIAREREMYE, R
Die-casting aluminum powder polyester @ed in ﬁgggﬁg}jgﬁmiﬁggéﬁgﬁééﬁ
different colours,PTFE or Nickel platt—Ql~ S SRISEER 1 SOt 1= °

Q) Made from low friction,long-life compound
O E2 Pistons \ material,to avoid the direct contact between
4 metals. The maintenance and replacement are
PINEE-2v e %H@%ﬁéﬁ@ﬁ%ﬁ%ﬂﬁﬁ%ﬁ  RENE easy and convenient.
IR, IEERUR. (ERENK , ERNEVEEECTLASER e

73TEl, == :
_ , ‘ . ‘ © ZE3 O-rings
The twin rack pistons are made from Die-casting aluminum
treated with hard anodized or made from cast steel with EERIFHERTIRGR , EaRaK
galvanization.Symmetric mounting position,long cycle life SBiT SRS EESRAR,

and fast operation,reversing rotation by simply inverting the

NBR rubber O-rings provide trouble-free

=IO E . operation at standard temperature ranges.For
O 13721 Travel adjustment high and low temperatur applications Viton or

A MR TR SR TR LT e« S ROV F X, Siicone

The two independent external travel stop adjustment bolts
can adjust +5° at both open and close directions easily and
precisely.

Shanghai Luokai Industrial Co., Ltd. Add:No.218 Huting Road(N),Shanghai,China 201615

Tel:+86 21 5603 2171 Fax:+86 21 33250914 E-mail:sales@lokvalve.com www.lokvalve.com




s
W (1

UL L GARRE

?
. F
e
-
-
=
-

e

(il

f_'(‘('('illlwl

Shanghai Luokai Industrial Co., Ltd. Add:No.218 Huting Road(N),Shanghai,China 201615
Tel:+86 21 5603 2171 Fax:+86 21 33250914 E-mail:sales@lokvalve.com www.lokvalve.com




LUOKAI

2% Parameters

=

)
U

S U0 EERE 0 R

12
20

13
15
21
23
14
16
17
18
19

g
22
24
25

B He e
FETRARIRET 1 #B¥
b= il ¥
L= 1 5
ERBH 1 TN
sy 1 Trege
Lo il T2
HsTEE 1 Tre¥est
THEE 1 T2
TREEE 1 Tresest
ORI ! THERER
THORE 1 TSR
TETIAEE ORI 2 THERER
TEERORE 2 TSR
iR ORI 2 THERR
=L 2 THERER
Le3s 2 T
e 2 T
LS 2 EHES
TEESR 2 T3z
K7 i 7
it 1 =
L i Q BEW
M 0~12 00 HEW
wE g FHEAS
i R E R4 \Qg T
Description \lSQ ty Standard Meterial
Indicator screw 0 il Plastic
Indicator \ 1 Plastic
Axis block ~ 1 Stainless steel
Metal gask il Stainless steel
Outside 1 Engineering plastics
Inside r i Engineering plastics
Shaft support ring 1 Engineering plastics
Lower shaft support ring 1 Engineering plastics
Piston support ring 1 Engineering plasics
Bearing(Pinion top) i NBR
Bearing(Pinion bottom) 1 NBR
O-ring(Adjusting bolt) 2 NBR
O-ring(Piston) 2 NBR
Plug 2 NBR
Plugs 2 NBR
Screw nut 2 Stainless steel
Adjusting bolt 2 Stainless steel
Piston 2 Die-casting aluminum
Piston guides 2 Stainless steel
Body 1 Aluminum
Cam 1 Alloy steel
Axis i Alloy steel
Spring 0~12 Spring steel
End cap 2 Die-casting aluminum
End cap fastening bolt 8 Stainless steel

Shanghai Luokai Industrial Co., Ltd.

Tel:+86 21 5603 2171

hajipinid

MIFRETR

Protection

Hard anodized etc
Hard anodized etc

Nickel plated
Dip coating

Powder polyster painted etc

M A K E F L OW

Rz

IR /FEAR I
BARB/FEIRER

)
5) FIRR/FERAR

FIRR/FERER

FIRR/FERAR
FBIRB/FERER

Optional Meterial

Viton/Silicone
Viton/Silicone
Viton/Silicone
Viton/Silicone
Viton/Silicone
Viton/Silicone

Stainless steel

B EYT'T E R

Add:No.218 Huting Road(N),Shanghai,China 201615

Fax:+86 21 33250914 E-mail:sales@lokvalve.com www.lokvalve.com




®© LUOKAI

M A K E F L OW B EYT'T E R

T{EIRIE Operating Principle

XWAEFHITES Double Acting Actuators

ccw |
. ‘ jﬂ , I@L{_.
A B

o

I::%
[«

A
0° 90°
AO#S , EESSHEEREINED) , EiT6

HHFRTETHESE (0°—90°) , BOHES.
BOMS , =SSR ANIE , T8
HiHIRETETAESRE ( 90°—0° ) , AOHES.

Air to Port A forces the pistons outwards,causing
the pinion to turn counterclockwise while the air
is being exhausted from Port B.

Air to Port B forces the pistons inwards,causing

exhausted from Port A.

Cw

|
B

i -
A A B
0° 90°

AD#S |, RS m5NEgD |, fEATERE
HImIRATETiESE (0 90° ) , BOHES.

BO#S , ERFNENERANIEE , (EHITEE
AT £ 0°—0°) , AOHES.

Air to Prxé(orces the pistons outwards,causing
the p@Y'to turn clockwise while the air is being
exhau%eed from Port B.

¥ Port B forces the pistons inwards,causing
the pinion to turn clockwise while the air is bein pinion to turn counterclockwise while the air

E{ERHNITES Spring Return Act@érs
ccw O

Q,’
N

3

M|
is|

i B \ i
| L4
B § A B
0° 90°

AOMS , FESSRIREED | HEEREINED)
. TRt AmERT $H4EE (0°—90° ) , BOHES
PITRES | EERTEENNFRTRARNIED , T
st HnImET EHEEE) (90°—0°) , ALHES,

Air to Port A forces the pistons outwards,causing
the springs to compress,The pinion turns
counterclockwise while air is being exhausted
from port B.

Loss of air pressure on port A the stored energy
in the springs forces the pistons inwards.The
pinion turns clockwise while air is being
exhausted from port A .

s being exhausted from Port A.

e %5 ‘ : :_:

A B
Oo

AO#S , EREES7IREES |, HaEREINES]
, PUTSR B ShIRET EH465 (0°—90° ) , BEHES
WITERRS | EREHENNFATRRE , #ifT
et mERTEHAER (90°—0° ) |, ADHES.

Air to Port B forces the pistons outwards,causing
the springs to compress,The pinion turns
counterclockwise while air is being exhausted
from port B.

Loss of air pressure on port A the stored energy
in the springs forces the pistons inwards.The
pinion turns clockwise while air is being
exhausted from port A .

Shanghai Luokai Industrial Co., Ltd.
Tel:+86 21 5603 2171

Add:No.218 Huting Road(N),Shanghai,China 201615

Fax:+86 21 33250914 E-mail:sales@lokvalve.com www.lokvalve.com




®© LUOKAI

M A K E F L OW B EYT'T E R

| WIEAILE7I3E Output Torque Of Double Acting Actuators

A Output Torque

i ke
Rotation
1752
e / »—
90 Unit:Nm
- SIRIESAIr supply pressure(Unit:bar)

ElSModel 25 3 4 45 5 55 ,@!\% 7 8
DA-32 3 4 5 6 7 8 8 L9 11 )
DA-40 5 6 7 10 11 12 13,Q)° 14 17 19
DA-52 8 10 12 16 18 20 $ 24 28 32
DA-63 15 18 22 29 33 36 . 44 51 58
DA-75 20 25 30 40 45 50 \Q'Ss 60 70 80
DA-83 31 39 47 63 70 go 86 94 110 125
DA-92 45 56 68 90 102 1% | 124 135 158 181
DA-105 66 83 99 132 149 | 65 182 198 231 264
DA-125 100 125 150 200 226 N\ 251 276 301 351 401
DA-140 171 214 256 342 385 N 427 470 513 598 684
DA-160 266 332 399 532 598 665 731 798 931 1064
DA-190 426 532 638 851 [Q58 1064 1170 1277 1490 | 1702
DA-210 532 665 798 1064~" 1197 1330 1463 1596 1862 | 2128
DA-240 769 962 1154 | 1539M] 1731 1924 2116 2308 | 2693 | 3078
DA-270 1170 | 1462 | 1754 | &B39 2632 2924 3216 3509 | 4094 | 4679
DA-300 1526 | 1908 | 2289 Q3052 3434 3815 4197 4578 5341 | 6104
DA-350 2285 | 2856 | 342%°Qr 4570 5141 5712 6283 6854 | 7997 | 9139
DA-400 3256 | 4070 4@‘ 6512 7326 8140 8954 9768 | 11396 | 13024
SUEFIATEAGER - NO
HIERRERHET , i@%ﬁﬁ%&%ﬁﬁﬂﬁ'ﬁ%ﬁ%ﬁsm%—w%o
NI

& JA%E=100Nm
2415 =100x% (1+30% ) =130Nm

SiIRIEA=5Bar

XTEEXERR DR | B ERIITEER/)MIE I DA105.

Sizing:Double Acting Actuator
The suggested safety factor for double acting actuators under
normal working conditions is 20%-30%.

Example:

The torque needed by valve=100N-m
The torque considered safety factor(1+30%)=130N-m

Air Supply=5Bar

According to the above table,we can choose the minimum model is DA105.

Shanghai Luokai Industrial Co., Ltd.
Tel:+86 21 5603 2171

Add:No.218 Huting Road(N),Shanghai,China 201615
Fax:+86 21 33250914 E-mail:sales@lokvalve.com www.lokvalve.com




® LUOKAI

M A K E F L OW B EYT'T E R

Output Torque Output Torque
I epA)is] EﬁHﬂJiE

% Rotation @\\ Rotation
v % LJEE ﬁgi

0° 45° 90° 0° 45° 0° Unit:Nm
HItH#AEOUtput torque of air to springs Springs’ output
SIEAir pressure 2.5BAR 3BAR 4BAR 5BAR 6BAR 7BAR 8BAR
S Model |SPTINg| O° 90° 0° 90° 0° 90° 0° 90° | 0° 90° | 0° 90° | 0° 90° | 90° 0°
il Qty. [ Start End Start End Start End Start End Start End Start End Start End Start End
K5 | 5.7 38 76 57 6.2 43
K6 | 49 25 6.9 45 109 | 85 74 50
K7__| 4.0 13 6.0 33 98 73 140 | 104 O 8.6 59
K8 5.2 2.0 9.2 6.0 132 | 91 172 | 141 AN 99 6.7
SR-52
K9 43 08 8.3 4.8 123 | 79 163 | 128 | 203 | 168 N\J 111 |76
K10 7.4 3.6 115 [ 67 155 | 116 | 195 [ 15%/ 124 [ 85
K11 6.6 23 106 | 54 146 | 104 | 186 ¢ 143 | 226 | 183 | 136 | 93
K12 9.7 4.2 138 | 91 118\ 122 | 218 | 171 | 148 | 102
K5 | 114 | 7.7 150 | 114 223 | 149 104 | 638
K6 | 101 |57 136 | 93 209 | 166 283 | 239 125 | 82
K7 |86 36 125 | 72 195 | 145 268 | 219 U& 146 | 96
K8 109 | 5.1 182 | 124 255 | 19.8 32.8 \21 401 | 343 167 | 109
SR-63 K9 168 | 104 | 241 | 177 | 314 387 | 322 188 | 123
K10 14 8.2 228 | 156 30. \2& 8 | 373 | 301 | 447 | 374 | 209 | 137
K11 215 | 135 287 W 207 | 360 | 280 | 433 | 353 | 229 | 150
K12 200 | 114 | N3e| 186 | 346 | 259 | 419 | 333 | 250 | 164
K5 | 145 106 | 194 | 155 295 257 N 145 10.5
K6 |124 | 76 173 | 126 274 | 227 375 | 328N\ 174 | 127
K7 |104 | 48 152 | 97 253 | 199 354 | 290\ 203 | 148
SR-75 K8 131 | 68 231 | 169 333 | 270 | 432 | 370 533 | 470 232 | 169
K9 210 | 141 312 | 241 | 411 | 341 512 | 442 261 | 19.0
K10 190 | 111 L8 | 212 390 | 312 | 491 | 412 | 591 512 | 290 | 211
K11 ARY | 183 370 | 283 | 470 | 384 | 570 | 484 | 319 | 232
K12 A\A9 15.4 349 254 449 | 354 | 549 454 | 347 | 253
K5 | 233 16.1 311 24.0 46.8 39.7 NJ 23.0 15.8
K6 | 201 | 115 | 280 | 193 437 | AS.1le| 594 | 507 276 | 190
K7_[ 170 | 69 248 | 14.8 405 \\OK 562 | 462 322 | 221
SR-83 K8 217 | 101 EY " \ VI 531 | 415 688 | 572 | 845 | 729 368 | 253
K9 éé 213 499 | 370 656 | 526 | 812 | 683 414 | 285
K10 e 16.6 467 | 323 624 | 480 | 781 | 637 | 938 793 | 460 | 316
K11 <\ 436 | 27.7 593 | 434 | 750 | 591 | 906 748 | 506 | 34.8
12 LN i 404 | 232 561 | 389 | 717 | 545 | 874 702 | 552 | 38.0
K5 [ 331 | 220 | 442 | 32%%| 668 | 559 344 | 233
K6 | 284 | 152 | 396 62.2 | 49.0 848 | 716 412 | 280
K7 | 238 | 82 34.9 4 | 575 | 421 80.2 | 64.7 481 | 327
SR-92 K8 313 |, 126 | 529 | 352 755 | 579 981 | 805 207 | 103.0 550 | 373
9 PRNN 487 | 284 709 | 510 935 | 736 6.0 | 96.1 619 | 420
K10 N 436 | 215 66.2 | 44.1 88.8 | 66.7 13 | 892 | 1340 | 1118 | 68.7 | 46.7
K11 N 615 | 37.2 841 | 59.9 6.6 | 824 | 1292 | 1050 | 756 | 514
K12 N 56.8 | 304 794 | 530 | 1019 | 755 | 1245 | 981 825 | 56.0
K5 | 510 | 334 | 675 | 499 | 1006 | 83.0 492 | 316
K6 | 447 | 235 | 611 | 400 | 942 | 732 1273 | 1062 591 | 380
K7 | 384 | 137 | 549 | 303 | 879 | 634 121.0 | 964 68.9 | 443
SR-105 K8 485 | 204 | 816 | 535 114.7 | 865 | 147.7 | 1196 | 180.8 | 152.7 ~ 787 | 506
K9 753 | 43.7 1084 | 76.8 | 1415 | 109.8 | 174.5 | 1429 886 | 56.9
K10 689 | 334 1020 | 665 | 1351 | 996 | 1682 | 1326 | 201.2 | 1657 | 984 | 63.3
K11 957 | 570 | 1287 | 901 | 161.8 | 123.1 | 1948 | 156.2 | 1083 | 696
K12 894 | 475 | 1225 | 806 | 1555 | 113.6 | 1886 | 1467 | 1181 | 759
K5 | 73 47 98 72 148 122 79 52
K6 | 63 31 88 56 138 107 188 157 9 63
K7 | 52 15 77 40 127 90 178 141 110 73
SR-125 K8 67 25 117 75 167 125 217 176 268 226 125 84
K9 107 59 157 109 207 159 257 210 141 94
K10 9% a4 146 94 196 144 247 194 297 | 245 157 105
K11 136 78 186 128 236 178 286 | 228 173 115
K12 125 63 176 113 226 163 276 | 213 188 125
K5 | 128 85 171 127 256 213 129 86
K6 | 111 59 154 102 239 187 325 273 155 103
K7 | 94 33 137 76 222 | 162 308 247 181 120
SR-140 K8 120 50 205 136 291 221 376 307 462 392 206 | 137
K9 187 110 273 196 358 | 281 444 367 232 155
K10 170 84 256 169 341 255 427 340 512 | 426 258 172
K11 238 143 324 | 229 409 314 495 | 400 284 189
K12 221 118 307 203 392 289 478 | 374 310 206

Shanghai Luokai Industrial Co., Ltd. Add:No.218 Huting Road(N),Shanghai,China 201615

Tel:+86 21 5603 2171 Fax:+86 21 3325 0914 E-mail:sales@lokvalve.com www.lokvalve.com



® LUOKAI

M A K E F L OW B EYT'T E R

Unit:Nm
HIHAEOutput torque of air to springs Springs” oulpd
SEAir pressure 2.5BAR 3BAR 4BAR 5BAR 6BAR 7BAR 8BAR
Spring| 0° 90° 0° 90° 0° 90° 0° 90° 0° 90° | 0° 90° | 0° 90° | 90° 0°
REModel |19
QY- | start End Start End Start End Start End Start End Start End Start End Start End
Ks [ 193 124 259 [ 191 392 324 208 140
K6 | 165 | 83 232 | 149 365 282 498 415 250 168
K7 [137 |41 203 | 107 336 240 469 373 292 196
K8 176 | 66 309 199 442 237 575 465 708 598 333 223
SR-160 K9 280 157 413 290 546 423 679 556 375 251
K10 253 115 386 248 519 381 652 514 785 | 647 417 279
K11 358 207 491 340 624 473 757 | 606 458 307
K12 330 165 463 298 596 431 729 [ 564 500 335
K5 |332 [ 222 438 | 329 651 542 309 200
K6 | 292 | 161 398 | 267 611 480 824 693 o~ 371 240
K7 | 252 |99 358 | 205 571 418 784 631 ~N\M 433 280
K8 318 143 531 356 744 569 957 782 1169 | 995 \ON 495 320
SR-190  [Tyq 491 | 295 704 | 507 917 | 720 | 1130 | 933 557 | 360
K10 451 233 664 446 877 658 1090 | 87 ¢ 1302 | 1084 618 400
K11 624 384 837 597 1050 | €8 | 1263 | 1022 680 440
K12 584 322 797 535 101\ 8 1223 | 960 742 480
K5 [ 390 285 523 | 418 789 684 Pl 380 275
K6 | 335 209 468 | 342 734 608 1000 | 874 \O” 456 330
K7 | 280 133 413 266 679 532 945 798 (N 532 385
SR-210 K8 358 | 190 624 456 890 722 1156 | 988N\ 1422 | 1254 608 440
K9 569 380 835 646 1101 XN 1367 | 1178 684 495
K10 514 304 780 570 1046 | 8 1312 | 1102 [ 1578 | 1368 760 550
K11 725 494 9910\ 760 1257 | 1026 | 1523 | 1292 836 605
K12 670 418 Y 684 1202 | 950 1468 | 1216 912 660
Ks | 552 409 744 | 600 1129 | 985 INY 554 | 410
K6 | 470 297 662 | 489 1047 | 874 1432 | 1259 [N 665 492
K7 | 388 187 580 | 379 964 764 1349 | 1149 775 575
SR-240 K8 498 | 268 883 653 1267 | 1037 | 1652 | 1422 | 2037 | 1807 886 656
K9 800 542 1185CRNN\926 1569 | 1311 | 1954 | 1696 998 739
K10 718 431 116G\ 816 1488 | 1201 | 1872 | 1586 | 2257 | 1970 | 1108 | 821
K11 [ 705 1406 | 1090 [ 1791 [ 1474 | 2176 | 1859 1219 | 903
K12 9 594 1323 | 979 1708 | 1363 [ 2093 [ 1748 1330 | 985
K5 | 903 675 1195 | 968 1779 | 15562}, * 787 560
K6 | 790 519 1083 | 811 1667 | 2252 | 1981 943 672
K7 | 679 361 972 654 1556 &31 2141 | 1823 1101 | 783
K8 860 497 1446 AW1081 | 2029 | 1666 | 2614 | 2252 [ 3199 [ 2836 1258 | 895
SR-270 K9 IRAT 923 1917 | 1509 | 2502 | 2094 | 3087 | 2678 1416 | 1007
K10 767 1805 | 1352 | 2390 | 1937 | 2974 | 2521 | 3560 | 3107 1572 | 1119
K11 1693 | 1194 | 2278 | 1779 | 2862 | 2364 | 3448 | 2949 1730 | 1231
K12 \ 1582 | 1037 | 2167 | 1623 | 2751 | 2207 | 3336 | 2792 1887 | 1342
Ks | 1097 | 729 N 1061 | 730
K6 | 935 494 1316 N\75 1273 | 876
K7 | 772 258 1IQ\PN 639 1916 | 1402 1485 | 1022
SR-300 K8 403 1754 | 1166 | 2517 | 1929 1697 | 1168
K9 1592 | 930 2355 | 1693 | 3118 | 2456 1909 | 1314
K10 1430 | 695 2193 | 1458 | 2956 | 2221 | 3719 | 2984 | 4482 | 3747 2122 | 1460
K11 2030 | 1222 [ 2793 | 1985 | 3556 | 2748 | 4319 | 3511 2334 | 1606
K12 1868 | 986 2631 | 1749 | 3394 | 2512 | 4157 [ 3275 2546 | 1752
K5 | 1553 | 964 1702 | 1173
K6 | 1292 | 586 1863 | 1157 2043 | 1408
K7 [ 1031 | 208 1602 | 779 2745 | 1922 2383 | 1642
SR-350 K8 1341 | 401 2484 | 1544 | 3626 | 2686 2724 | 1877
K9 2224 | 1165 | 3336 | 2307 | 4508 | 3449 3064 | 2112
K10 1963 | 787 3105 | 1929 | 4247 | 3071 | 5390 | 4214 | 6532 | 5356 3405 | 2346
K11 2844 | 1551 | 3986 | 2693 | 5129 | 3836 | 6271 | 4978 3745 | 2581
K12 2584 | 1172 | 3726 | 2314 | 4869 | 3457 | 6011 | 4599 4086 | 2816
K7 | 2028 | 869 2880 | 1837
K8 [1736 | 411 2550 | 1225 3292 | 2100
K9 2259 | 768 3887 | 2396 3703 | 2362
K10 1967 | 311 3595 | 1939 | 5223 | 3567 4115 | 2624
K11 3303 | 1482 | 4931 | 3110 | 6559 | 4738 4526 | 2887
SR-400 K12 3012 | 1025 | 4640 | 2653 | 6268 | 4281 | 7895 | 5908 | 9523 | 7536 4938 | 3149
K13 4348 | 2195 | 5976 | 3823 [ 7603 | 5450 [ 9231 [ 7078 5349 | 3412
K14 4057 | 1738 | 5685 | 3366 | 7312 | 4993 | 8940 | 6621 5761 | 3674
K15 3765 | 1281 | 5393 | 2909 | 7020 | 4536 | 8648 | 6164 6172 | 3937
K16 5101 | 2452 | 6728 | 4079 | 8356 | 5707 6584 | 4199

Shanghai Luokai Industrial Co., Ltd. Add:No.218 Huting Road(N),Shanghai,China 201615

Tel:+86 21 5603 2171 Fax:+86 21 33250914 E-mail:sales@lokvalve.com www.lokvalve.com




® LUOKAI

M A K E F L OW B EYT'T E R

JMEZR~T Dimension

DA/SR-32

DA/SR-40 E

x| L raa el
o

Shanghai Luokai Industrial Co., Ltd. Add:No.218 Huting Road(N),Shanghai,China 201615
Tel:+86 21 5603 2171 Fax:+86 21 3325 0914 E-mail:sales@lokvalve.com www.lokvalve.com




® LUOKAI

M A K E F L OW B EYT'T E R

(,0 G1/4"NAMURER G1/2"NAMURKR
27
M TEEERTE
o A\ G
ESModel " T3 T¢c [p [E NF |G| H |1 | J K L MIN]Z o [ o ored
DA/SR-32 |23 |23 |46 |46 |6RJ46 | 25 | 50 36 M5x8 |9 |11|110|®40/NAMUR G1/4"

DA/SR-40 |28.5|36.5|60 60 {80 52 30 | 80 |®36 |®50 |M5x8 |M6x10 [11|14|122|®40|NAMUR G1/4"
DA/SR-52 [30 [41.5[65.5 | 72292 65 30 | 80 [P36 P50 [M5x8 [M6x10 [11|14|147/®40 NAMUR G1/4"
DA/SR-63 |36 |47 |81 v (108 |72 30 | 80 [P50 |@70 |M6x10 |M8x13 14|18 |168|®40| NAMUR G1/4"
DA/SR-75 |42 |53 |94 |99.5 |1195|81 30 | 80 [950 @70 |[M6x10 [M8x13  [|14/18|184|®40 NAMUR G1/4"
DA/SR-83 |46 |57 |98.5 |108.7/128.7| 92 30 | 80 [P50 P70 |M6x10 |M8x13 17|21 |204|®40|NAMUR G1/4"
DA/SR-92 |50 |58.5|111 |116.5/136.5| 98 30 | 80 |[®50 @70 |M6x10 |M8x13 17/21|262|®40 NAMUR G1/4"
DA/SR-105|57.5| 64 |122.5/133 |153 |109.5| 30 | 80 |®70 |®102|M8x13 |M10x16 |22|26|268|®40|NAMUR G1/4"
DA/SR-125|67.5| 74.5/145.5| 155 |185 | 127.5| 30 | 130 |®70 |®102 | M8x13 |M10x16 (22|26|301|®55/NAMUR G1/4"
DA/SR-140|{75 |77 |161 |172 |202 |137.5| 30 | 130 |®102|®125|M10x16|M12x20 |27|31|390|®55|NAMUR G1/4"
DA/SR-160|87 |87 |184 [197 (227 |159 | 30 | 130 |®#102| 125 |M10x16|M12x20 |27|31|458|®P55 NAMUR G1/4"

DA/SR-190{103 | 103 |215 |[230 [260 |[189 | 30 | 130 @140 M16x25 |36]40|525|®80|NAMUR G1/4"
DA/SR-210{113 | 113 |235.5/255 |285 | 210 | 30 | 130 @140 ‘M16x25 |36/40|532|®80|NAMUR G1/4"
DA/SR-240{130 | 130 |264.5/289 |319 | 245 | 30 | 130 165 M20*25 |46|50|602(®80|NAMUR G1/4"
DA/SR-270{147 | 147 |299 |326 [356 |[273 |30 | 130 ®165 M20*25 |46/50|718/980NAMUR G1/2"
DA/SR-300{162 | 174 |330 |350 (380 |312 |30 | 130 P165 M20*25 |46|50(760(®80|NAMUR G1/2"

DA/SR-350{190 | 195 [483 |410 [440 | 365 |30 | 130 |®165 | @254 | M20*25|8xM16*25|46/50|920|P80|NAMUR G1/2"
DA/SR-400| 260 | 260 |466 |466 [496 |298 | 30 | 130 |®165| $254 | M20*25|8xM16*25|46(50|940|®80|NAMUR G1/2"

Shanghai Luokai Industrial Co., Ltd. Add:No.218 Huting Road(N),Shanghai,China 201615

Tel:+86 21 5603 2171 Fax:+86 21 33250914 E-mail:sales@lokvalve.com www.lokvalve.com




Shanghai Luokai Industrial Co., Ltd.

Tel:+86 21 5603 2171

®© LUOKAI

M A K E FLOW B ET'T E R

PIERAPITENIEIE Sizing:Spring Return Actuators

FEIEETEEET , BMERITHREENZ2REN
30%-50%

fen -

@I 1EEHE=80N-m

Z$/1%8=80 (1+30% ) =104N-m
SiEESI=5Bar
XRREVERITRE M 0%EER | BATATLEER)
SR140

K74 0%

Z547820°=308N-m

T54TFE90°=247N-m
3HEE(TFE90°=181N'-m

HEITFE0°=120N-m
FrAEHB I TFRIIEK.

=
BEAE TR ESOIET , PITIEBOESAF
IR TRREILE 0RE | AR AEEEERIENL.

N

The suggested safety factor for spring return
actuator under normal working conditions is
30-50%

Example:

The torque needed by valve=80N.m

The torque consider safety
factor(1+30%)=104N-m

Air Supply=5Bar

According to the table of spring return
actuators’ output,

we find out torque @*140 K7 is:

Air stroke 0°= 308@

Air stroke 90°=247N-m

Spring str. Q =181N‘m

Spring st%oo 120N-m

All th oh ut torque is large than we needed.

Att n
yng the restoration,the spring return

¢tuators’ output will not be affected by the
inputing air from the port B.On the contrary , it

LE2(E BT RS Sprs

mounting form for spring return actuators

will help the restoration of springs.

@@) < \1.%@ <Q§

5 Springs

6 Springs

)@%

7 Springs 8 Springs
e g @% &%) %
68 @0 @8 \8-®
9 Springs 10 Springs
D& €883
-2 \@ Bt %
11 Springs 12 Springs

ERFRHVTRANSECII IS |, WNRAES THREIIE
FRE. ETAXARGHESE , FIIMILAENS
. EINSIEHEEECHITES

During selecting the spring return actuators,we
can choose the more reasonable and more
economical actuators,if we know the different
torque needed by the valve working at opening,
operating and closing.

Example:

The max torque needed by the butterfly
valve=104N.m

The torque after
opened(operating)104x30%=32N.m

Air Supply=5Bar

We can select the SR125K11

output torque is:

Air stroke 0%136N.m>104N.m

Air stroke 90°=78N.m>32N.m

Spring stroke 90°=173N.m > 32N.m

Spring stroke 0°=115N.m > 104N.m

The above datas show the actuator’ s torque can
satisfy

the requirement of the butterfly valve.

Add:No.218 Huting Road(N),Shanghai,China 201615
Fax:+86 21 33250914 E-mail:sales@lokvalve.com www.lokvalve.com




®© LUOKAI

M A K E F L OW B EYT'T E R

A
Butterfly vﬁﬁ L 100% fuan -
_ \_%/ RS A E=104N-m
Plug calia |00% = FIFFSHAE104%30%=32N-m
80% SJRES=5Bar
= ﬁﬂ 100% 50% ?Jéﬂ‘JE_JL‘XﬁE}:% SR125 K11
80% FE17520°=136N-m>104N-m
W TSITFE90°=78N-m>32N-m
SREEITFE90°=173N-m>32N'‘m
: > SHEEFTRE0°=115N-m>104N-m

FHZ Open 0° &7 Operating 90° A Close 90° VA 3R B ReT AR B IZ S ERRIIE F S,

T B BRSNS LEEMIRENE AR ZMEEER (AITERNESTISIRED ) . 0®
HIR  ERAENMER TR  EEEEEXNDR. ReRHESH. ()
Note Make sure that the torque necessary to operate the valve is compatible with the ac@tc’:rque (it depends on both
actuator type and air supply). \
Please note that the requested torque depends not only on the valve,but on t| éb‘p king conditions and the safety
margins of the plant in question,too. \ l
FEX Weight Table A
< » Q°
D
BEModel 32 40 52 63 83 92 105 125
E2 (DA)| 07kg 1kg 1.4kg 2kg _ 2.7kg 3.1kg 4.6kg 6.8kg 8.9kg
= N\
E8(SR) | - Likg | 15kg | 2J@Y | 29g | 36kg | 52kg | 69g | 10.1kg
\J
= Q°
‘S Model 140 160 19&4 210 240 270 300 350 400
EE2 (DA)| 13kg 20kg 3 47kg 67kg 97kg 110kg 186kg 289%g
BHE (SR) | 15kg 24kg .§b-5kg 55kg 80kg 118kg 130kg 234kg 360kg
E 1. SRAL2IREE ; 2. EBNSEE
£ _Air Consurujtion
N
FEAIRFIXEAFRAIr Volume Opening&Closing Unit:L
fI=Model | Air volume opening |Air volume closing #I=Model | Air volume opening |Air volume closing
i FER () XEEL (Ft) -z FFE (Ft) XA (F)
32 0.04 0.05 140 2.5 2.2
40 0.08 0.11 160 2 B2
52 012 0.16 190 59 5.4
63 0.21 0.23 210 /A5, 725
75 0.3 0.34 240 11 9
83 043 0.47 270 17 14
92 0.64 0.73 300 23.8 29.7
105 0.95 0.88 350 S5l 46.3
125 1.6 14 400 52.6 56

RSBRURTHSEND. FXTE. MARRMERE, H8WT
Ft/53=SEL0RR ( FFEARR+XEIRIR ) x| HSED (Kpa) +101.3 Ry D4
L 101.3 -
Air consumption rest with Air Supply.Air volume and Action cycle times,expressions: _

L/Min=Air volume(Air volume Opening+Air volume closing)x[Air Supply(Kpa)+101.3 [xAction cycle times/min
101.3

Shanghai Luokai Industrial Co., Ltd. Add:No.218 Huting Road(N),Shanghai,China 201615

Tel:+86 21 5603 2171 Fax:+86 21 33250914 E-mail:sales@lokvalve.com www.lokvalve.com




® LUOKAI

M A K E F L OW B EYT'T E R

120° , 135° , 180° And Spring Return
T EAFZEER TR EaNERIIREIESK |, FEIJRIER P HNERESRENTE ($1120°,135°,180°%F ) NSaH
1748,

In order to meet the special requirements of control valve we produced special stokes actuators on
constumer request(e.g.120°,135°,180°tc.)

$818%E Output Torque

A HAESE 90 TR TRaIHER

Output Torque of double acting actuators please refer to the torque of 90°actuators.

180°ERITEER T Length of DAX180°

1 o
=

Size 52 63 75 83 92 105 & ‘125 140 160 190 210
= NG
Z(mm) | 213 243 258 298 362 429 569 652 756 760

If you enquire any further information of spring return actuators,please do not hesitate to contact us.

| =it 1722 Three Position Pry@umatic Actuator

E1ﬁ:‘:ﬁ’%£ﬂ#tﬁ%§%-f¢%§%iﬂj$’fﬁm  #'fftT0°, 45°, 90°8%0° , 90° , 180°RI=R=UR(FS=N. FiEf
]

BRRER N EEEEABNT LRI AEIREIN. FEMERAEN. W0 T2AIITRRAERR20° , 30°, 50°

. 70°FERFERIE,
Three postion actuator prm&on operation of 0°,45°,90°r 0°,90°,180°.The midway postion is achieved by a
mechanical stop of move on the 2 auxiliary pistions. This midway stop postions adjustable. Example:

90°actuator can providg\20°,30°,40°,50°,70°etc.
h i b Outp@que
A HESE 0TI Sa N TRRIHER

Output Torque of double acting actuators please refer to the torque of 90°actuators.

90° ={usUMIEMIN{1TEER T&Length of DA-3P (90°)

L]
OO
E z;m ' ) g}mwn G/ &{? i
&
l# ,? ;E";-—_EF
- Z =
Size  [s2-3p  |63-3p 75-3p  |83-3 923p | 1053p | 125-3p | 140-3p | 160-3p | 190-3p  |210-3p
Z(mm) | 266 303 336 298 394 | 410 46 | 570 646 788 788

If you enquire any further information of spring return actuators,please do not hesitate to contact us.

Shanghai Luokai Industrial Co., Ltd. Add:No.218 Huting Road(N),Shanghai,China 201615

Tel:+86 21 5603 2171 Fax:+86 21 33250914 E-mail:sales@lokvalve.com www.lokvalve.com




® LUOKAI

M A K E F L OW B EYT'T E R

1.0perating media
LIfENR Dry or lubricated air,or the non-corrosive gases
IR SE TR R S R PR SRL T 30um. Thy o | ?1 %0
25 EES ! gmaxmlun particle diameter must less than 30 um
BIVSEEN25E , BASEENSE, . Air supply pressure

The minimum supply pressure is 2.5 Bar
The maximum supply pressure is 8 Bar
3.0perating temperature
standard:-20°C ~ +80°C

Low temperature:-35°C ~ +80°C

High temperature:-15°C ~ +150°C
4.Travel adjustment

SNEIMERE

¥R 1 -20°C ~ +80°C

fi& : -35°C~ +80°C

/=im : -15°C~ +150°C

4 4TFEVETS

0°FN90° A MU BT 5 RIETSEE

5(EAmS . o : o o
=l s, I;aAve a'djugtment range of +5°for the rotation at 0°and 90
Application
Either indoor or outdoor ®
--!:'t — . 0
T #iniE Mounting Standard @)

4-M5 5 P A e
- S HHMNAMURRE S P —

DIN3337tpfE , AL EIERES
588 ( SaFRIIN ) SR

Q 2,

BRI (BT R . . ENEREEMETRE.

Air supply connection is The NA drive pinion and the ~ Bottom mounting connection is
designed in accordance with NAN@?‘top mounting connection  designed in accordance with
NAMUR standard to install it direct installation of ISO5211 and DIN3337 standards
solenoid valves. A’@ecessories such as limit switch for direct mounting with valve
\l. box and positioner. gear boxes or mounting brackets.

\0

VL EfRSS Other Ssrvice

Shanghai Luokai Industrial Co., Ltd. Add:No.218 Huting Road(N),Shanghai,China 201615
Tel:+86 21 5603 2171 Fax:+86 21 33250914 E-mail:sales@lokvalve.com www.lokvalve.com






